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Page a, line b from the top and page a, line c from the bottom are denoted by ab

and ac.

Page and line For Read

38 Ci Ci

52 dx dx

2110 (b) 2

228 e−(1/n) log ϕ(z) e(1/n) log ϕ(z)

233 (d) 4

383 Y (m) Y (2m)

386 Y (m) − a = Xm ∨ a − a = (Xm − a)+

Y (2m) − a = X2m ∨ a − a = (X2m − a)+

387 (Xm − a)+ (X2m − a)+

4212 If It

653 A Ai

731 1987. 1987).

9412 (T.4) (T.5)

955 L(E.E) L(E, E)

9716 α = 0 α > 0

1003 +

∫ ∞

0

+

∫ ∞

1

1095 U(b) Uε(b)

1114 B(Bt) B(Bt),

1189 Theorem 3 Theorem 4

12013 Bt) Bt

1219 Theorem 1 Theorem 2

1289 a, b,∈ R1 a, b ∈ R1
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1294 GF Gn

1393 Ht Hh

1395 (f) 6

1393 (α − A) (α − A)−1

14011 E(u(Xτ(r)) E(u(Xτ(r)))

1464 for a ̸= 0, for a > 0 or a ≤ −t,

1472

∫ ε

1

∫ 1

ε

1483 D D(A)

1523 j∞ = ∞ j∞ < ∞
16415 2.11.3 2.11.2

1641 Hk
s = I Hk

0 = I

16712 Theorem 1 Theorem 2

17410 R3 Rk

17512 1

2
∆u(a)

1

4
∆u(a)

1773 e1) >
εn

2
−e1) >

εn

2
1774 ei) >

εn

2
−ei) >

εn

2
1915 2.8. 2.8. Let X(t) be a Brownian motion.

20011 [−n,−n] [−n, n]

2038 Gn(dx) G(dx)

2074 1 + iz 1 − iz

21213 Let (i) Let

21710 X2(t) − X1(s) X2(t) − X2(s)

21711 X2(t) − X1(s) X2(t) − X2(s)

2226 Tx0 Ttx
0

2264 r] r}
2306 ∞) ∞) .

56 Delete footnoteThe variance of µ is denoted by V (µ). and add a new footnote

The variance of µ is denoted by V (µ).

Replace 889–8811 by the following:∪
k

Bk(ω) ∪ A(ω),

where, letting {Sk(ω)} be the set of all discontinuity points in the interval (t1, t2], we
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define Bk(ω) = (X(Sk−, ω), X(Sk, ω)) if X(Sk−, ω) ∈ A(ω), and Bk(ω) = [X(Sk−, ω),

X(Sk, ω)) if X(Sk−, ω) ̸∈ A(ω). We take the Lebesgue measures of both expressions

to get

To Example in p. 128 the following remark should be added:

The d(a, b) is not a metric in R1 ∪ {∞}, as it does not satisfy

d(a,−a) ≤ d(a,∞) + d(∞,−a)

for large a. Map R1 ∪ {∞} onto the unit circle in the complex plane by ϕ(a) =

e2i arctan a, a ∈ R1, and ϕ(∞) = −1 and use the usual distance (≤ π) along the circle

for a metric instead of the d.

Replace 2103–2105 by the following:

satisfying (a)–(c). Then the conditional expectation with respect to Bn−1 gives Mn−1+

An = M ′
n−1+A′

n. Since Mn−1+An−1 = M ′
n−1+A′

n−1, we have An−An−1 = A′
n−A′

n−1.

Therefore An = A′
n for all n, since A1 = A′

1 ≡ 0. Hence Mn = M ′
n.

(February 9, 2009)
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